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GP12-18

vekTor
N 4

Cneundukayna
HomwuHanbHoe HanpsaxeHne 12B
. C20(10.5B) 18 Ay
MKOCTb
(25°C) C10(10.5B) 16.7 Ay
C1 (9.6B) 11.7 Ay
OnnHa 181 £ 2mm
WnpunHa 77 £ 1Mm
Pasmepbl
BbicoTa 167 £ 2mMm
lNonHas BbicoTa 167 £ 2mMm
Bec 5.1 Kr £ 4%
Tvin knemm T3/T13
BHyTpeHHee conpoTtuBneHme
(MonHocTio 3apskeHHOW =15mQ
6aTapen (25°C)
3aBUCMMOCTb 40°C e
eMKOCTU 25°C 100% PASMEPbI TN KNEMM
OT TemMnepaTypbl 0°C 85% v v
(104.) -15°C 65% o
18142 = 7741 12 < 2
HomuHanbHasa Temnepatypa 25°C + 3°C "I‘I“
SKCnyaTauuv - 7 —1 T =7 B a !
s Paspap -20 0C~ +600C @ o :
SKCMAyaTaummn 3apsa -10°C~+60°C N /
XpaHeHue -20°C~+60°C S )
H . . 13.50-13.80B
B 6?%'06;:'%*'\'4“89':'?#;232??0 TemnepaTypHas KOMMeHcaLys: ‘ KINEMM T3
-18mB/°C
HansxeHue noasapana 14.50-15.008 02 1
B LMKNMYECKOM pexime (25°C) TemnepaTypHas KoMneHcaums: ] .
-30mB/°C = = R i
MakcumanbHbIN TOK 3apAaga 54A
MakcrmManbHbIV TOK pa3paga 270 A (5 cek) M5 10
PacueTHbIn cpok cnyx6bl (20°C) 5 net 4@ X
c 3 mecAua OcrtatoyHaa emKocTb: 91%
a?’;‘;’i’g; L 6 mecaueB | OcTaTouHas eMKOCTb: 82% KNEMM T13
. 0
12 mecAueB OcTaTo4yHas eMKOCTb: 65% TexHonorvs AGM =
Kopnyc ABS =
Paspag noctoaHHbIM TOKOM (Amnep, 25°C) _

BPZCA’,,”,;;Z;'E,{M 5 MUH 10MrH  15mMuH 30 MuH 60 MUH 2y 3y 4y 5y 104 20y
9.6B 68.8 43.6 34.0 19.2 11.7 6.45 4.46 3.69 3.14 1.70 0.91
9.9B 66.7 423 33.2 18.8 11.6 6.41 4.44 3.67 3.12 1.70 0.91
10.2B 63.9 40.5 320 18.2 11.3 6.35 4.40 3.64 3.10 1.69 0.91
10.5B 61.2 38.8 309 17.8 11.1 6.26 437 3.62 3.08 1.67 0.90
10.8B 57.8 36.6 293 17.1 10.8 6.10 4.24 3.51 2.99 1.65 0.88

Pa3spag nocToAHHO MOLHOCTb )

Boomm hanbr a5 MUH 10MuH  15MMH  30MMH 60 MUH 2y 3y 4y 5y 104 20y
9.6B 767 491 388 220 137 75.5 53.0 44.0 37.5 20.5 11.0
9.9B 744 477 379 215 134 75.0 52.7 43.7 373 204 10.9
10.2B 714 457 365 209 131 74.3 52.3 434 37.0 20.3 10.9
10.5B 683 437 352 204 128 73.2 52.0 43.1 36.8 20.2 10.8
10.8B 645 413 334 196 125 714 504 41.8 35.6 19.7 10.6
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